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Chinese Traveller Huen Tsang visited India during the reign of
this king

1 Harshavardhana
.4 Ashoka
3 Kanishka
4. Satavahana
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Identify the Mismatched pair
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Viswanadha Satyanarayana — Srinadh Ramayana
Kalpavruksham

Nandur1 SubbaRao — Yenki song
Sr1 Rangam Srinivasa Rao — Firadaus: A Rebel

Gurram Jashua - Kandiseekudu
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Andhra Kesari titled leader to oppose lathi charge related to
Simon Commission in Madras was

l. TennetiViswanatham

-3

Tanguturi Prakasam Panthulu
Rajagopalachari

3

4. Lala Lajpati Roy
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Chatrapati Shivaji1 fought with this king’s army

1. Akbar

2. Humayun

3 Mohammad Bin Tughlaq
4, Aurangazeb
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The Supreme Commander of the Armed forces of India 1s

k. The Prime Minister
2. The President
3. The Vice President
4
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The Present Vice President of NITI Aayog 1s

1. Suman Bery

2

Sindhusree Khullar

3 Amitabh Kant

4 L.G. Patel
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Identify the mismatched pair related to States and their folk

dance

1.

I3

3.
4.
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Maharashtra - Tamasha
Andhra Pradesh - Dimsa
Odisha - Chou

Gujarat — Chadya Dandanaatha
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“Give me blood. and I shall give you freedom.” these words

are said by
Jawaharlal Nehm
2. Sardar Patel

Subhash Chandra Bose

3
4. Bhagat Singh

“Vezy IIN déaﬁ& BRBO O VPN ma’oé :3*5:;
éfac&%ﬁ et m@@l TeLTRT.

1. HRDOTTRST IDD
2 DOETT JeleeF

3. RogeT w@og ek’

4, SN A0V

Options :
1.% 1
2.% 2
3.¥3
4. % 4

Question Number : 9 Question Id : 3922667889 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai24

7

The purpose of ‘Pradhan Mantr - Jan-DhanYojana’® 1s to
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Options :
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To Provide housing facility to all families

To Bring all the families of both urban and rural area
into the purview of banking

To Provide gas connections to all the poor

To Provide financial assistance to the farmers
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Identify the mismatched pair

1. 12™ January — National Youth Day

2. 24" Ja nuary — National Girl Child Day

3. 8" March — UN Day for women’s Rights &

International peace

4, 28" February - National Physics Day

ROORYT BReBODT), MOSFRD.

It ZISO 12 — D‘a%\m o0 QTVWTEB

2. IR0 24 - Dodeon Trgp WY OF

3. TINFE 8 - DLTONT TIND DR @OE’}E&%EO&?
Z0o&MmN UN QToucH

4, PWZO 28 — m%fc&- 2593555?9; DT03TH

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 11 Question Id : 3922667891 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

The language which is called as “The Italian of the East’ is

Hindi

-2

Sanskrit
Tamil

3
4. Telugu
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The author of the book ‘Unstable Earth’ 1s

I

[

3
4.

J.A. Steers
Gillbirt
Pascal
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The film ‘The Tashkent Files™ is based on the mysterious

death of
I Lal Bahadur Shastn
2 Shyama Prasad Mukherjee
1. Homi J. Bhabha
4. Subhash Chandra Bose
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This 1s used for artificial rains

1. Magnalia

2. Silver Iodide

3. Calcium Phosphate

4. Hydrogen Peroxide
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The name of the Indonesian National Airlines 1s

i Tiger Indonesia

2, Garuda Indonesia

3 Elephant Indonesia

4, Cheetah Indonesia
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Question Number : 16 Question Id : 3922667896 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the mismatched pair

1. Dollar - Barbodas

2. Rouble - Belaras

2 Won - Japan

4, Dinar - Algeria
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After March 2024, the eligibility age for senior citizen to vote
through postal ballot 1s

L, 70 years
2 75 years
3 80 years
4 85 years
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Dadasaheb Phalke Lifetume Achievement Award for 2022 is
awarded to

1. Mithun Chakravarthy

2; Aiswarya Roy
3 Chiranjeevi
4, Hemamaline
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The Central Government has announced this pension scheme
for emplovees from April 1. 2025

il National Pension Scheme
2 Old Pension Scheme

3. New Pension Scheme

4. Unified Pension Scheme
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33™ Summer Olympics 2024 was held in

1. Los Angeles (America)

|

London (Great Britain)
Paris (France)

3
4. Shanghai (China)
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“English language would contribute to the revival of India.
just as Greek and Latin contributed to the revival of England”.

said by

I Elphinstone

2. Macaulay

3 Sadler Commission
4. Sargent Committee
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“The authorities audit report record’ belongs to this section m
the school registers

Iy Comrespondence Register
2. General Register
3 Academic Register

Supervision and inspection Register
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This Article of the Indian constitution deals with the
‘education development of women’
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NCLP school are managed by

1. NGOs

2 Government Teachers
3: Corporate Companies
4. Various Industries
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According to NEP 2020. Anganwadi workers / teachers who
has lower education qualification than 10+2 will be given the
traming for this time period

L 6 months diploma course
2. & months diploma course
3. 1 year diploma course

4. 2 years diploma course
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The word ‘Ethos’ 1s derived from

1. Latin
2. French
3 English
4. Greek
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This 1s the best method to teach moral values. as per the
reconumendations of the Secondary Education Commission
(1952-53) and *National Curriculum Framework 2000°

1;
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£
4.

Integrated approach
To teach value education as separate subject
Direct participation

Involving in various social activities
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“Listening Carefully to the opinions of others™ is this type of

value
J,
2
3.
4.
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Democratic value
Social value
Permanent value

Spiritual value
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Under this section of the Right to Information Act 20035, every

citizen of India can request for information of his / her choice
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Wrongly matched chapters and its components of NCF — 2005

15

il Chapter 2 — Leaming. knowledge

i Chapter 3 — Perspective

3 Chapter 4 — School and Classroom Environment
4. Chapter 5 — Systemic Reforms
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The responses in Operant Conditioning are

| 2
2.
3
4.
3

J

1,

3.
=

Options :
1.1
2.% 2
3. % 3
4. % 4

Naturaly emitted
elicited
un natural

either Naturaly emutted or elicited
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This step of memory process can be measured by this formula.

N TR 5 T -

Options :
1. %1
2.¥2

Intial trails - relearning trials

Intial trails
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3. % 3
4. % 4
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Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Chronological age and mental age of a student are 12 years and
15years respectively. As per LQ. level classification he belongs

to this category

1. Very superiors

2. Superiors

£ Gifted

4, Given data 1s msufficient
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‘Self-smart” people possess this type of intelligence

[ Visual spatial intelligence
2. Interpersonal intelligence
3. Intra personal intelligence
4, Naturalistic mntelligence

Z0300 m%ﬁoé&-' & WP m%ﬁi G¥olelalevhle)
1, 0.9 TPEeSHTE wd I

(O R ) D
2 E-oa’ﬁadﬂi w%&ii
55 =s00ho3NnF3 wnd3d

B0 £ s
4, ﬁﬁﬂ?f’ ANIARL
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The stage when the learners regardless of their best efforts.

temporarily seems to “stop’ making visible progress

1.
2.
3.
4.

Plateau stage
Initial spurt
Fluctuations stage

Spurt after plateau stage

3OO cm.,; @odaafﬁm-, 3OHFTOD =Jen
aa@%@%mﬁ Q0B03 FodRm TO3I

L
2,
3.
4.

Options :
1.¥ 1
2.% 2
3.%3
4. % 4
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A boy 1s believer of a God. He thinks that God never forgives
the smner. Therefore he never did any sin. Here the motivation
mvolved is

1. Extrinsic motivation
2 Intrinsic motivation
% Achievement motivation

o

General motivation

22, DM BRIV Ded JoRd. ©IT FADY W)
BRBTITR, eI cdwmanow TORPOY. BTOCT
BWR  OlwRner olRFPse Oedod 3T, FRBIY.
VETY BT ©PTCTH

L LT, VPBETE
2. ©030% LPIJE0H
3. RPN BRTeTH
4.  OTPI
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7

‘Understanding total leaming situation’ happens in this learning

Insightful leaming
Programmed learning
Operant conditioning

Classical conditioning
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A student failed 1in SSC examunation. But he dreamed that he
would be was selected for IAS and became District Collector.
This defense mechanism 1s

E, Rationalization
2. Fantasy

+; Displacement
4. Denial of truth

W) WIRBHE IFRTA TOGBORNY VNEeOF RT. ST
oW  D.R.IFN Eof% oN  RBUPDTOOIRTOZ  FIA
5ordmR . I3 TewdoDY VBNIH TFHVI0Z
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Symptoms of poor mental health is
1. Adequate ability to make adjustments
2, Socially adjustable
3. Lives in his own world of imagination and fantasy
4, Always lives i the world of reality
BIRTAE YTOTRENT OFLND
1 BROTVESTNT, VIRRBEIRWT AP,
2. FRRIDLT BROEE 33
3. 3% facru TRTD TTOWRY wBOATY BNOINSTAD
ﬁm@m
4. CITRNOR WOFWNT TFTOWTY RO
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These Methods are NOT useful to assess the personality of an

247

mdividual

f="]

b.
&
d.

D30 BIT[R, VEOFCALD Bf WTHINWD YUTCINIBY

Personality inventory

Minnesota clerical Aptitude test

Bell's Adjustment Inventory
Metropolitan Readiness Test

a. RISH BT
03
b. ST ARCER OB SRWRE LA
C. > OBATE00E" QBOO
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Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

If ¥ — 1 is a factor of ax’+by—5 then
ax4br—35 R ¥’ — 1 o3IBF 033

1.

12

3.
4.

Options :
1. %1
2. % 2
3.¢¥3
4. % 4
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(1.5x —4y) (1.5 x+4y+3) — 4 5x+12y+4y (4y)=
2.25 X’ £19y”

1

2.

3.

4.
Options :
1. % 1
2. % 2
3.% 3
4. 4

2.25 > 16y
2.25%°+ 16y°

2257
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3
A rational number 1s such that when you multiply it by —and
2

=

2
add — to the product you get —. The number 1s
3 12

5 i
R 20T PN ), :“;G:ﬁﬁw&cl —DOT THEdA,
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2 3 4 9 x .y
B Gre=d Hid ————=-1 then 2 2=
X 71- NX ¥ 2 3
2 3 s
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Jr oAb = Jx fy 2" 3
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2. 6
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If o. B.y are zeroes of x° + 3x°— x—3 then " + p* + y° =
a, B,y Agh ¥’ + 31— x— 38 BeR3neoad ot +pi+y =

]

e
(S
—
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Y23 V2443 1 1
=aand + = b then
E e 5-246  5+246
Vi3 343 L
= a3 =b <30
N >5-2J6 5+246
1. a—b=0
2. 4% b=0
1
3.at+ — =0
b
a b
Options :
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2.2
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What is the range of the values of the constant K. if the
eqmtiou x* + ky+16 = 0 has no real roots

Y +ke+16=0 *”*fécﬁrﬂa am:i IRONSD m*zﬁoé
2003 K 3 839ng @
® .

| — <K <H
2. — IS K<
3. —8<K<8
4. —16<K<16
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Correct Marks : 0.5 Wrong Marks : 0
If x = sum of first 40 even natural numbers
v = sum of first 40 odd natural numbers. then y—x =
X = WRT® 40 3O DINEINL Hcﬁ ne [
= R[RTO 40 B3 LT f-mua ne &ﬂ@:&:{dé y—x =

hl'.l'

1. —40
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The largest binomial co—efficient in the expansion of (1+x)"is
(10" 3 DACBoDHY  ©3BeE OTBRed  ABdET
L 924
2 816
o 792
4, 495
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The domain of function v(x) defined by equation 3"+ 3¥ =3 is
3+37=3 Bawe3Teon HROT TRAMIROL Ted ¥(x) I
Seales

[3.)

(o0, 0)
(~2.1]
(—o0, 1)

Bt b

e
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L. @ D
If A={2 3 4 |anddet A=45 then x=
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1 27
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Which of the followmg 1s NOT TRUE.
1. Mode is not effected by extreme values

2. Mean 1s influenced by the value of every
Observation m the data

3 Median 1s uneffected by extreme values
4. Range of first ‘n” whole numbers 1s ‘n’
FENT TeTINTY DI TPTy OB
L ©0g, KBSNP0T WIFE TRINRNDOY
2. TIWOITY BE WEIB PQ00T FTIRD T
AR
5 @G%&ﬂtﬁﬁ@od TR,0TR) ﬁ@?aér{mﬁ%@&g
% -
4. [T ‘n’ Perer AOBNRY WL ‘0’
Options :
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In first 10 overs of one day cricket match of 50 overs the run
rate was only 4.4 what should be the run rate in the remaining
overs to reach the target of 366 mns?

20T 50 LWOTIY DNFOIT I ToWEY RBeTo 10
8RO NY D030 T°Cetd 4.4 mp3B[e AB. 366 S3Nne
O TIOLED T LTIONYY oW, O JeeF STyt
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4. 7.05

Options :
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The mean ofa. b. c.d and e is 32. ifthe mean ofa. d and e 1s
28 then the mean of b and ¢ 1s

a.b.c.d :3&39: e N¥ ITIO 32, a. d 63333 e Ng
A00AO 28 ©TT b DX ¢ N FTIAD

38
2. 36
3. 34
4. 32
Options :
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The pomt of intersection of the less than type and of the more
than type cumulative frequency of a grouped data is (15.5. 7.5)
then median 1s

2,00 ES?‘IEF%@ 03 :poﬁcj Q0% d,d QeE =033
Eﬁaﬁﬁﬁﬁ eded33 ©owd (15.5,7.5) =10 dmc%

1.5
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Mode of the followmg frequency distribution is
FENT ©F S ST JLOD WIIYE

CI |0.00-0.04

0.04-0.08

0.08-0.12

0.12-0.16

0.12-0.16

f 4

9

4

]

3

1= 011
2. 0.03
3. 0.06
4. 0.09
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If the vanance of 0.1.2.3........

10.11,12.13........19 is

Options :
1. %1
2. %2
3.% 3

.9 1s K. then the variance of

K <03 10,11,12,13,.... 19 &
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Display Question Number : Yes
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Two dice which contain A.B.C.D.E and F on their faces are
thrown simultaneously then the probability of getting two
vowels on two dices.

aﬁafﬁﬂj aneed AB.CD.E m?r’h.o_g F 2000 mMér3cnd 20
m%ﬂmfaﬁcq 2,003€2300 s.mda@?qc:%ﬁ. DO TSN =edd
SO AONHL WHF FOPDAODS
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Options :
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A bag contains 10 yellow. 15 blue. 20 red and 25 green balls.
A ball 1s picked out without looking into it. Probability of
getting a ball that 1s neither yellow nor blue.

2,000 Be0TY 10TED, 15D, 20 3oP DJ 25 TAD
220BINYS. O3PTRIFIRN  2WOTD zéodm& 23e0ROT
3nodennd. =YD B Ved domnsh wT zéocémq
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From a pack of 52 playing deck of cards. jacks. queens and
kings of red colour are removed. Fromthe remaming cards.
Probability of getting black king card is

52 BRFAYLT 200D BLIAOT  FOP) WP 2IVINY,
ooed B T TOTRE T, SNCNTTCRNT. VT
TWFNYY IH) Tok TWRF TEOIWH FOLIRIEoDT

1
] —
26
1
7. B
46
3
3. —
26
1
4.
25
Options :
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There are hundred cards which are numbered from 1 to 100.

Find the sum of probability of getting a square number and
probability of getting a cube number

1 0T 100 =3 ﬁo&ﬂéﬁ% IR TN SR
FORFNPW. W™NF AOLBONT), JIBOINT  AOPRNCONS

5 el
B FI ﬁo:&écdomcl TEOIT  FoPBACODING [T
FOWEILE WO
1. 0.10
2 .12
3 0.13
4. 0.14
Options :
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A and B are independent events with P(A) = 0.2 and
P(B) = 0.5 Then P(A/B). P(B/A). P(An B) and P (AUB)
respectively are

1. 0.2.0.1.0.5and 0.6

2. 0.1,02,0.5and 0.6

3. 0.1.02.0.6 and 0.5

4, 0.2,0.5.0.1 and 0.6

A ::ba_cn B nsL @33&: TIDNL P(A)=0.2, 6533:“?
P(B) = 0.5 <38 P(A/B). P(B/A). P(An B) :SJ&:C
P(AUB) nsb 33000

1. 0.2,0.1,0.5 ﬁ:z&_:n 0.6

2 0.1,02.0.5z0= 0.6

3 0.1,0.2,0.6 Eja"’ev_"n 0.5

4. 0.2,0.5,0.1 ng 0.6
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Y-axis divides the line segment jommg the pomts (—6. 15) and
(3.5) internally in the ratio

(—6. 15) .(3.5) aﬁccjoﬁ@m% Ao dfmsaocéaja’ql Y—wi
503030 N wWPNAZD LT3

L. 1:2
2. 2:1
3 9:20
4. 3:2
Options :

1. % 1
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2.¥2
3.% 3
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Question Number : 64 Question Id : 3922667944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The vertices of a parallelogram PQRS are P (—3.5). Q(1.10).
R (3.1)and S (—1. —4) and M 1s the point on side PQ. The area
ARMS 1s (sq. units)

AWROST 2¥0LRe e PQRSI gonnsd P (-3.5). Q(1.10).
R@B.1) &) S(-1,4)DR PQ Loz o30¢S M 20T
0TS ARMS & QAICEDE (ITT DFRPINGY)

1. 144
2 02
3 46
4. 23

Options :
1. % 1
2.% 2
3.%3
4.9 4

Question Number : 65 Question Id : 3922667945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The area of an equilateral triangle whose vertices are (a.0).
(—a.0) and (0, a+/3 )is 83 sq.units then the value of “a” is

(a.0).(-a.0) I (0.a+3) NYOT DTFHH! FTLTOT

oy

St s 843 3. 03ReTmend a8 B
1 2
2. 2L

4

2

o
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Options :
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Question Number : 66 Question Id : 3922667946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The difference of length of diagonals of QuadrilateralPQRS

whose vertices are P (-6.0). Q (—4. 3). R (—6.8) and S (-8. 3)
1 (11 units)

P (—6.0), Q (-4, 3). R (=6.8) 3= S (-8, 3) 11 JonnewNd3
PQRS B300F WY BOFNY QOBNY RBI]A (LITRINTY)
I, 4

Lad -3
Lh e
n

o
A
n

Options :
1.¥1
2.% 2
3.%3
4. % 4

Question Number : 67 Question Id : 3922667947 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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If the slope of a line joming the points A (¢.3). B [ -7, 2% ]is

%thﬂlﬁz—l 15

i’

A(a3).B

b,

1) . )
—?.3—]r1fé§b He0ham Teadodh vt
-TI

1
) 7
=38 a =13 3¢

L -3l
Z
1
2 11—
4
5 el
2
4, 15l
4
Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 68 Question Id : 3922667948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The direction ratios of a line are (—6.2.3). The direction
cosInes are

2,000 Jedod OF ﬁo&jﬁﬂ@ OIS (—6.2.3) =TT
T8 OF ERFIND

s

vl
5 {5 & 3
i .IT.:I._‘
{6 =g =3
5. [92%.59)
5" 5" § J
5 5 B
4, (===
L% "5°5)
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Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 69 Question Id : 3922667949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The angle between the straight lines represented by
2x" +5xy+2y” —5x—Ty+3=0is

2x7 +5xv+ 2y  —5x—Ty+3=0 RRB3MS JeBne :Scdu%farsaﬁ

S 4)
1 COos 1[—]
L5 ]
a1 3
2. cos 1[—]
5.4
qf 4
3 Sin 1[—‘
5
el )
4 tan 1[—‘
L5
Options :
1.v 1
2. % )
3.% 3
4. % 4

Question Number : 70 Question Id : 3922667950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

The equation of circle with centre (2.—3) and passes through

(=5.1) is
(2.-3) BeoT@RiwoNd) (-5.1) T Tweebd= T
EATAN e 0}30)
1 4y —Ax+6y—44=0
2. 4+ +4x—6y—-44=0
3. x 4y —4x+6y—52=0
4. x+y +4x—6y-52=0

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 71 Question Id : 3922667951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The eccentricity of a rectangular hyperbola
20T OO0 WETTIBOOD LFeodEoRnS

]

'Cl-—-h
[ -3
_|_
[a—

.

2

-

]

3. /
4.

=

Options :
1.v1
2.% 2
3.% 3
4. % 4

Question Number : 72 Question Id : 3922667952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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If 4=45%then the value of (CosecA—SinA) (SecA—CosA)
A=45":T0 (CosecA—SinA) (SecA—CosA) & 38

1.

-

3

b [ = = =

4.

|

Options :
1. %1
2.% 2
3.¥3
4. % 4

Question Number : 73 Question Id : 3922667953 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AABC is a scalene triangle with base AC, if AC = 6cm.

AB = /3cmand #BAC = 607, then the area of triangle in cm
1s

AC TRTNDE ©FFLRT AABC 0@ AC =6 X0.80¢

AB = /3 30.80¢. do@ /BAC =60°. =33 S QALERE
33T No.mf.ﬁ@é@j

I, 4.5
2 3 3'\,-"?

3. (4513

2

4, 1.5\-‘@

Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 74 Question Id : 3922667954 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
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Correct Marks : 0.5 Wrong Marks : 0

Which among the following increases continuously in the
range 0°<0<90"?

0" <08<90°?53R.200Q IINIYNTY CIRIJTIT BSTEh
L. Sin6. Cot6

SecB, Cosb

Sin6. tand

4. SecB. Cosect

-3

L

Options :
1. %1
2.% 2
3.¥3
4. % 4
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Question Number : 75 Question Id : 3922667955 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If Cos(x+350°)=Sin (y—50°) then Sin(x+y) — Cos (x+y) +
Cos30

Cos(x+50°) =Sin (y-50") 3T Sin(x+y) — Cos (x+y) +
Cos303 &3¢

LB
' 2
3 d@lrz
& 2
)
3 V3 +1
| 2
3+x/{3
4. 5
Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 76 Question Id : 3922667956 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Area of Rhombus ABCD is 18+/3 cm’ and BD = 6cm then the
ZDAB

DWgS ABCDOD Deeor 1843 2d.B0.q0e. IR
BD = 6 70.:0¢. ©R3 L/DAB

30°
2, 60°
3. 90°
4, 120°
Options :
1. % 1

2.9¥2
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3.% 3

4. % 4

GET IT ON
Google Play

Question Number : 77 Question Id : 3922667957 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Inner part of a cupboard i1s in the Cuboidical shape with its

length. breadth and height in the ratio +/2:1:1. then the angle
made by the longest stick which can be inserted into the
cupboard with its base diagonal 1s

2,000 BODB FIeTEoRIH I LREEFST W RNT
NG, eno DY 230N BT V2118538 &
%@*ﬂ@fﬁ‘?é@j SBoND Eﬂéﬂf&% E%ﬁ, SR0 TID
FRE BROON YLOLRTIER 3RS

I
2.
3.
4.

Options :

1% 1
2. % 2
3.¢3
4. % 4

45°
60°
30°
15°

Question Number : 78 Question Id : 3922667958 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Which of the followmng does not exist for some value of *x’
ciRRWee 20T BE 'R FNIJNSY TRBIYT,

1.

-3

Options :

—21
Cosx —
34
26
Sinxy = —
tanx =29
Secx=1.9
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1. %1
2.9 2
3.%3
4. % 4

Question Number : 79 Question Id : 3922667959 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The value of Sec (2100°)
Sec (2100°) & 23¢3

2
1. ,.
23
2 2
2
3. g
43
4, -2
Options :
1. %1
2.2
3.% 3
4. % 4

Question Number : 80 Question Id : 3922667960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Ina AABC.Ifa=3.b=4 and SinA = %ﬂlﬂll ZB

3zes ABCod®) a=3.b=4 DR SinA = = =33 /B
= 5] - 4
1. 90°
2. 60°
3. 45°
4. 30°
Options :
1.¥ 1
2.% 2

3.%3
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4. % 4

GET IT ON
Google Play

Question Number : 81 Question Id : 3922667961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

5
If SecB+tan6 = — then value of Sin6 and the quadrant in

which ‘0 lies

SecH+tanf =

o | b2

zsmm?cﬁ%& AeTOIT
=0

I

4.

Options :
1. %1
2.9 2
3.% 3
4. % 4

Sind =

Sinb =

Sinb =

Sind =

5
-0 e
13

N

——— N
13 =4

5
+—.,0€0
13

5

13

=

+—., 0 (),

!

ST3 Sing B33 R ‘0° 0IR

Question Number : 82 Question Id : 3922667962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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For two non—zero. non collinear vectors a and b 1f
|a+b |= | a=b]| then angle between a and b 1s

a.b nd ma;ﬁa%gcs 0BTes0enENTYT R‘ﬁﬁﬁ%ﬁ%&
latb|= |a-b| =33 a. b g SBQS Bees

g 60°
2 90°
3. 120°
4. 150°

Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 83 Question Id : 3922667963 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The area of the Parallelogram for which the vectors
a=21—3j+3K and b =1 + 2j —5k are adjacent sides is (in square
units)

a=21-3j+3K aﬂa:égﬁ b=1+2j -5k Z03INsL ﬁ’:}%}'
LRTONTON YT FRBV03T WIGRF X wwALedF (WTIT

DBTOINTY)
I V782
43 V390
3. 4299
4, V158

Options :

1. %1

2.% 2

3.3

4.% 4
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Question Number : 84 Question Id : 3922667964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If OA=i+3j+2k. AB= 3i—2j+k. then OB =
OA=i+3j+2k. AB=3i-2j+k =33 OB =
1. -2it5jk

2i-5j-k

41++3k

—4i—j-3k

w1

Options :
1. %1
2. %2
3.¢¥3
4. % 4

Question Number : 85 Question Id : 3922667965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

._.
(=
|_]
j=h]
=I
e
oo
S
+
L]

k-2

1
“Tan'x+c
3

1 o =)
—Tan 1[ = |+-:
3 L5

L]

4. éTan'lx+c

Options :
1. %1
2.% 2
3.¥3
4. % 4

Question Number : 86 Question Id : 3922667966 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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. Sinax .
The value of lim— ,b#0, a#bis
=0 Sin bx
lim Sl b#0,azb)a 33
x=0 Sin bx
1. ab
2 B
b
b
3. —
a
i log,a
log, b
Options :
1% 1
2.¥2
3. %3
4. % 4

Question Number : 87 Question Id : 3922667967 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If f(x) = e* + Sinx Cosy. then f'(x)
f(x) =e* +Sinx Cost, ST £ (x)

) e® + Cos2x
2 e* +Sin2x
3 e® +2Sin x
4. e* +2Cos x

Options :

1.9 1

2. % )

3.% 3

4. % 4

Question Number : 88 Question Id : 3922667968 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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o

J-ISJT'H xdx=
{0

i 0

p.d 1

L]
NN

4. T

Options :
1.% 1
2.92
3.%3
4. % 4

Question Number : 89 Question Id : 3922667969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the TRUE statement/s
(1) 2kg:500g = 10km:2.5km
(1) 20 seconds : 3 hours = 1 meter : 900cm

(i11)  "1:10 paise = lcm : Imm

1 only (1)

2 only (1) and (i1)

3 only (11) and (111)

4. only (1) and (i11)

BOOIRT BeYTODT, THIFAD.

(1) 2 3.mo0 5000 =10 d.e¢ :2.56.e0¢

(1) 20 B30 : 3 Notd =1 cdet3T : 90080.c0e

(i) 110 A0 =1 Fo.5e : 140,50
L () 303

2. (1) 3 (i) IR

3. (i) s (i) B9

4. ()R, (i) e
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 90 Question Id : 3922667970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The difference between compound interest (compounded
annually)and simple interests on a certain amount of money

for two vears at 4% per annum 15 "10. Then the amount of
money 1s

AL TEITR, :5:&‘?% 4% WRTTBRODN 2 IRFNOT
(ﬁﬁ?%@ﬁa& DB BT LTRT) WIWE R, ATFLENY
JIWLT BIZoF 10 ST0 & T

§ 36250

3 6300

3 6500

I 7500

-2

ol o

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 91 Question Id : 3922667971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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The expenses on oil. vegetables and rice of a family are in the ratio
12:13:15 respectively. The prices of these are increased by20%.
30%.50% respectively. The total expenses increasedby

2.0 PEDOWTY TP, STTONH P, wIod eI
0PFNL Feowwon 12:13:15 NTITIR. Aneg SN

I0ameN 20%, 30%.50% DVEOIPNT. BTWT 2.4, FRTT
oedd 390 Jedt DwdE

1. 32.5%
2. 33.5%
3. 34.5%
4. 35.5%

Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 92 Question Id : 3922667972 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In a hostel of 180 boys the food matenal is sufficient for 37

days. After 12 days of hostel life. 30 boys left the hostel. The
number of days for which the remamning food material will last 1s

180 =F PO YDV oD BJISATIY 37 OINER
T[T, UTC TJRFPFAD S, 12 OIS TR
2eTIT FOST 30 BT VTRHEND TORO WED, BRETITL.
T SToT JIRDFND YV &mﬂ&.‘)?ﬁ@ﬁ QT OIS

TR T
1. 30
2 32
3. 34
4, 36
Options :
1.v 1

2.% 2
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3. % 3
4. % 4

Question Number : 93 Question Id : 3922667973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the cost price of 12 apples 1s equal to selling price of 18
apples. then the loss percentage is

12 Aee BN &RowLIS, 18 Jee JEWNS RO

e3en :ﬂ:d?d*‘acjd 3B E
1. 30%
2 50%
1
3. 33—%
3
1
4. 30=%
3
Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 94 Question Id : 3922667974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An amount of ¥ 1170 is divided among three persons A.B and
C such that 3 times A’s share. 2 times B’s share. 4 times C’s
share are equal. The shares of A.B and C respectively are

31170 aifagajsja% AB @3 C 200 B XIJONR A
Ong 3 O, B gnd 2 S, C g 4 OxD, Towwen
DT BRGRNTI, TWOROTVT. TPMRTT A, B 02
C noR OPAT IRTT PN FTN

3270, 3180, 3360

3390.%260.3520

3520,3390, %260
3360.3540.3270

I3

By Lo
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Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 95 Question Id : 3922667975 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Percentage of numbers from 1 to 70 (including 1 and 70).
which have 1 or 9 in the unit’s digit

1 DX 700 DP,I (1 DR 707¢0) RoABNT
atuﬁaﬁ%:ddg 1 93z 9 NPT 230335?1*%‘ Jedw@o

20
2. 25
3. 30
4. 35
Options :
1.v 1
2.% 2
3.% 3
4. % 4

Question Number : 96 Question Id : 3922667976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The smallest 4 digit number which 1s divisible by 9.18, 24
and 32 1s

9,18,24 03 32NMY0T VTN LRNTAND 0N
98233, O,

ik 1080
2. 1152
3 1306
4. 1536
Options :

1. % 1
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2.¥2
3.% 3
4, % 4

Question Number : 97 Question Id : 3922667977 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following 1s/are terminating decimal(s)

.. 16 .. 143 g
(1) — (i1) 0 (111) 'S
1. (1) only
2. (1) and (11) only

3. (1) and (111) only
4, (1). (11) and (111)
FENIPYNTY LOZARNT TITIOINW

. 16 .. 143 e 9
(1) o5 (i1) T (i11) =
1. (1) =23,

-2

(i) 3 (i) w3
3 (i) D) (i) BPF
4. (). (if) 3, (i)

Options :

1. % 1

2.% 2

3. %3
4.9 4

Question Number : 98 Question Id : 3922667978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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—1then HCF (x.y) =

If log [ log, (log’) | =2 and log,| log)_ |~
ogg| og,( 0g6};|—§ and log,{ ngz?J—

; —_— 1 s T, P
logs[\ ]Dg4{logg} ] = EESEJC logi[ la.::-g;T | =160

.78 (xy) =

2

L

|
3
6
9

i

Options :
1. %1

2.2
3. % 3
4. % 4

Question Number : 99 Question Id : 3922667979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If the pair of integers (a,b) such that a=b =-3 and
a+b+8 =0, thena =
a+b=-3 DB at+b+8 =0, SMOBJOZ TpForOFNY el
(a,b) =T0 a=
1. —4
4
—12

3.
4. 12

12

Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 100 Question Id : 3922667980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Which of the following statement is TRUE?

$INSHNIY T3, Bewd BRVD 2

1. f.

[

:r4+i.l‘+4=4+{

l+4.I|
4 )
3., 4+-(4+4dH=(4+-4)+(4+4)

4. [4—%:]+4:(4+4)—1}1+4J

Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 101 Question Id : 3922667981 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

315.625-3/17.576 =

Options :
1.v 1
2. %2
3.8 3
4. % 4

Question Number : 102 Question Id : 3922667982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Let abc be any three digit number. then abc+bca+cab is not
always divisible by

abe 0N 2,00 FRTOING FHOLBZO3PTT
abc+bea+cab HOWTH FSNTPNTY 0IRRTOOT
CITRTRNOR FRNDMR) DY

—

a+b+c
3

3 37

4. 17

I3

Options :
1. %1
2. % 2
3.% 3
4.9 4

Question Number : 103 Question Id : 3922667983 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

IfA= {:r x=n"+LneN.n £4} ,B ={x: x 15 an integer and
x"~9 = 0} then which of the following is TRUE

A= {.1' x=n"+lLneN.n 24} B ={x: x 2000 [PRHFOT
P x-9 =0} 83T IINIINIY FSTTTH.

i) n(A-B)=5

n(AnB)=1

3 n(AuB)=5

4. n(B-A)=2

-2

Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 104 Question Id : 3922667984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
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Identify the WRONG statement

1.

2
3.
4

Options :

1. %1
2. % 2
3.3
4. % 4

All thombuses are parallelograms

All squares are rthombuses and rectangles

All rectangles are squares

All parallelograms are trapeziums

gatelonvidiny ﬁf@ﬁ@-&ﬂ{l EF A0

adea‘gﬁ@éﬁe;: RAWIV0ST W3LRF =MD Erb;iﬁ
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Question Number : 105 Question Id : 3922667985 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In AABC. DE/BC. If AD=2 3cm. DB=6.9cm and EC=4.5cm
then AE 1s

AABC &° DE//BC. AD=2.3 80.c2¢, DB=6.9 0.¢%

EC=435 50.50¢. =30 AE 23¢3

1.

12

3.
4.

Options :

1. %1
2.% 2
3.¢3
4.% 4

3.0 cm
13.5cm
1.5 cm

1.8 cm

e. I

=0
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Question Number : 106 Question Id : 3922667986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

*‘AB’ 15 a chord of length 10cm which i1s drawn in the curcle of
center ‘O’ and diameter 26cm. The perpendicular distance
from center to the chord 1s

1.
5

-

3
4

10 cm
16 cm
13 cm

12 cm

‘0’ Beog d,d_‘% mﬁ 26 Ro.ene. SAH aﬁﬁd@ﬁ
10 Bo.sne VTITT “AB’ ), 9T, F0THOT WA
QTR ©0WTRT

L
2.
3.
4,

Options :
1. % 1
2. %2
3.%3
4.9 4

10 B0.e0¢
16 H0.c0¢
13 Bo.d0e

12 2000

Question Number : 107 Question Id : 3922667987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

A circle touches all four sides of quadrilateral KLMN.
If KL =12cm. KN = 14cm. MN = 18cm then LM 1s

1. 8 cm

2. 20 cm
3 16 cm
4. 44 cm

KLMN 233050F %503 o) tR@MMTR, ASFAEWT 2.0

aﬁﬁ’ Q3. KL =12 Z0o.e0ne, KN =14 B0.e00¢, MN =
18 Bo.ewe. =30 LM I 368

3 8 X0.en0¢
2 20 R0.e0¢
& 16 H0.c0e
4

44 H0O.30e

Options :
1. %1
2.% 2
3.¥3
4. % 4

Question Number : 108 Question Id : 3922667988 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The supplementary angle of an angle <A 1s three times to
angle ZA. The sum of complementary and supplementary
angles of ZA 1s

WO BRI LA T TOFTRUT does & deead LA

I SRTTR, ST LAZ TpOT B TOTRTE 8eesNne
S0

1. 45°

2 180°

3 1357

4. 90°

Options :
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1. %1
2.9 2
3.% 3
4. % 4

Question Number : 109 Question Id : 3922667989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ratio of an exterior angle and one of the any interior
opposite angles of an equilateral triangle is

2,000 ARNRIT SFPPWT WRBBRS DI CITVF)TTTR
2,000 ©03TOHTNSD &@es@& DT

|} 1:2
2, 2:1
3. 1:3
4. 3:1
Options :
1. %1
2.92
3.%3
4. % 4

Question Number : 110 Question Id : 3922667990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The perumeter of a triangle 1s 12 cm. If all the three sides have
lengths (in ¢cm) in integers. then how many such triangles are
possible?

2000 ST WIFE 12 Fo.
QTR (F0.30¢ m*CJ) TPTBOF
Mﬁwﬁ SERBRN AP0 337

5
2 2
3 3
4. 4

Options :
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1. %1
2. % 2
3.3
4. % 4

Question Number : 111 Question Id : 3922667991 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
CART is a rectangle. Intersecting point of diagonals ‘CR’ and
‘AT’ is ‘O’ If CO = x* +3x+7and OR = x* +4x+5then value
of x and length of any one of its diagonal respectively are

1. 4 and 35
2 land 11
¥ 2 and 34
4, 3 and 25

CART 0200 2,000 80d3. 3FNnsd CR DI
AT ¢ e 20T ‘0. CO=x" +3x+ 7R

OR=1x+4x+5 508 x &3S I 030 2,000 BeoF T
NI NWENDT)

1. 4 W0 35

P
il 1 23 11
.-
3. 2 D 34
-
4. 3 @3H 25
-l
Options :
1. % 1
2.% 2
3.¥3
4. % 4
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The ratio of the slant height and height of cone 1s 2: 3 then
the angle between radius and slant height 1s

Jodwus L3 ¢ @d :ﬂoeb c::édri%f 9T 2:43

ST Sm, DR 5.3 c:nédﬁ% IRNT BT

1. 15
2. 45°
3. 307
4. 60°

Options :

1. % 1

2.% 2

3.%3

4.9 4

Question Number : 113 Question Id : 3922667993 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A cone of height 7cm and base radms 3cm 1s carved from a

cuboidal block of wood with dimensions 10cm x 6cm x 2cm.
Then the percentage of wood wastage m the process is

10 30.20€ x 6 RO.cE % 2 FO.c0P. W3R YW 2,000
SIOWEEL Ry QiRN0T 7 H0.cle. DT, 3 Fo.e0e
&, TBROOT JoRTD, §3W0T. W3 & THoHODY
DT FWROD Jezwmo

1. 45%
2. 42—
2
3 33%
1
4 113 ":"fn
Options :
1.¥1
2.% 2

3.% 3
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4. % 4

Question Number : 114 Question Id : 3922667994 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ABCD is a parallelogram whose adjacent sides are equal and

. i 7 .
BD=13cm. area of ABCD is 65cm” then the length of AC in
centimeters.

TOTF WRTN ARToVRNE A3000380  330L30F 23
ABCD O QAefoF 65 83.50.50¢ 02 BD= 13 F0.50¢
ST AC oD 908 K0.50e.neY

5

2. 10
3, 6
4. 9

Options :

1. % 1

2.9 2

3.%3

4. % 4
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A right triangle with sides 5cm. 12cm and 13cm 1s revolved
about the side 12cm. Then the ratio of curved surface area
and total surface area of the solid so obtamed

5 Ro.cwe, 12 Fo.swe  FR 13 Fo.de RTBATINDH
OOWIRET  FPPRIIJII, 12 FO.LWE  LRWTVWN  TBROD
BROBOZ TJOPWe F[RATN, NTJFDB FTI BRRUI
BB, e, W) Toror et DACFNT VT

1. 125
2 13:12
3 13:18
4. 25312

Options :

1.% 1

2.% 2

3.3

4. % 4

Question Number : 116 Question Id : 3922667996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following groups of English alphabet letters have
both horizontal and vertical lines of symmetry

SN &@% on E:ﬁidﬁ%‘] RoXLTY AIPOIT :;::sg ©0w
Heend Belnsh TRoT Mo

1. T
2: X3, 60
% XY, Z
4. A B.C

Options :

1. % 1

2.2

3.% 3

4. % 4
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Question Number : 117 Question Id : 3922667997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The volume of a cube is 216cm’ then the len gth of its diagonal
i centimeters

20T FTIT TITO 216 . H0.c0¢. STT OTT B T
NG, RO.WENTY

1. 84/3
3. 6+/3
4. 6+/2

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 118 Question Id : 3922667998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If diagonals of a Rhombus are 7cm and 3 cm respectively then
the perimeter of quadrilateral which formed by joining

mid—points of the sides of thombus i cm
2,000 [FE0D FearTisd FweN 7 Fo.swe, 3 Fo.dwe.
STT [P E0D  RING  DJROWNRYOT  DTEE

FNLDFRT AIBPS FO.c0E.NTD

-

1. 4.5
2. 10
e 5
4. 9

Options :

1. % 1

2.2

3.% 3

4, % 4
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Question Number : 119 Question Id : 3922667999 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The ratio between the perimeter and the breadth of a rectangle
. - - . g . .
1s 5:1. If the area of the rectangle 1s 216cm™, then its length m
centimeters

SODIT WIS ) YRONY VDI 5 : 1
UTT ALERF 216 23.50.50¢ STO VT KO.SWC.NTY

1) 16
Z, 18
3 24
4. 26
Options :
1. %1
2.92
3.%3
4. % 4

Question Number : 120 Question Id : 3922668000 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The length of the minute hand of a clock 1s 14cm then what 1s
distance covered by the munute hand m 10 munutes m
centimeters?

20TH NBOIRTTY  WHNY  IYI 907 14 Fo.swe.
10 DENINTY & BT, TOIRESAR BRT FO.SWE.NTY

2
1. 14 —
3
2. 15l
3
3. 102l
3
2
4. 102=
3
Options :

1.v 1
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2. %2

3.% 3

4. % 4
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Match the definitions of the Mathematicians

A. Francis Bacon 1.

B. Aristotle fi.

. Kant 111.
1V.

Science of quantity

Mathematics 1s the
indispensible instrument of
all physical researches

Indirect Measurement

Gateway and Key of all
sciences
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A FRIF B3 i
B. DmorIer 11.
L]
C. FoOF 1ii.
1v.

1. A-w.B-1m.C-u
A-1m.B-1v,C -1
A-ivwB-1.C-11
A-m.B-iwv.C-1

Ao

Options :
1. %1
2. %2
3.¥3
4. % 4
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The statement “No Subject loses more than mathematics by
any attempt to dissociate it from its history” was said by

L. Lim

2. Chapman

3 Fried

4. J.W L. Glaisher

2,000 WHODTW, ©TT BOZEWOT LeTF BATS 03T
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BEYTID
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2. T 0T
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Options :
1. %1
2. % 2
3.%3
4.4 4
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The person who along with Bertrand Russell. challenged that
“any one could show where logic ends. there mathematics
begins™ was

1. Descartes

2 White head

3. Felix Klein

4. David Hilbert

aﬁcg:ncsf D“’ﬁ 5ed 29 IBF e::r:ra’ mmﬁcﬂwf 19
ned3 adogﬁmm:;,cﬂm oS0 EdR @mkanﬂuﬁod 20T
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4, BerE LootFe

Options :
1. %1
2.¥2
3.%3
4. % 4
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Identify the correct statements

L

II.

| o R e

oA A W

IT.

12

3
4.

Options :

1.% 1
2. % 2
3.¢3
4. % 4

Inductive reasoning is not a valid method when
concemed to proof

Though deductive reasoning appears to be simple, there
1s every possibility of going mmcorrect in many
situations

I1s correct: II 1s incorrect

I1s incorrect; IT 1s correct

Both I and IT are correct

Both I and II are incorrect

slovnia ﬁf@@/ﬁf@@ﬁ@@i e 0.
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Because of whose writings, the work of Pythagoras and his
disciples became known to the world

1. Epicaramos
2. Hippopotas
3. Phyllodus
4. Architan

IRV WOBRYOT HFNGRFT B ©IF ST A
TWOUE 90D

2 2 TOTNAF
2 S ZPeEIRT
ol
3 A ReBE*
4 33 eI’
Options :
1. % 1
2.% 2
3.¢3
4. % 4

Question Number : 126 Question Id : 3922668006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In which vear the Indian Government issued the postal stamp
for the first time in honor of Srinivasa Ramanujan
SeTTHR TOBPDRT NPCNOTF RN WBRTWL WON ©0U
23ee30DT, LTS ATWET RENE IRRT IRF

1. 1962
7. 1987
3. 1992
4, 1997

Options :

1.v 1

2. % 2

3.%3

4.% 4
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Question Number : 127 Question Id : 3922668007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mathematician who was the first to suggest that letters can be
used for unknown quantities

1.

-

"

3.
4.
SO0

3.
4.

Options :
1.¥1
2.% 2
3. % 3
4. % 4

Aryabhatta

Pythagoras

Gauss

Archimedes
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One of the mathematicians who introduced the School of

Intuitionism

L. AN. White head
2 Bertrand Russell
3. Henri Poincare
4. David Hilbert

©OITNY) TIT/FROTRCDT LI, TOWDAT

neddwod 2,20
= o o R

1.
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3.
4.

Options :
1. % 1
2.% 2
3.3
4. % 4
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Identify the correct statements

1 Understanding : The pupil established relationship
between two quantities given in a problem

I Application : The pupil corrected an error in a given
concept

1. I1s correct; IT 1s incorrect

I3

I1s incorrect: IT 1s correct

3 Both I and II are correct

4. Both I and IT are incorrect
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Options :
1. % 1
2.% 2
3.%3
4. 4
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A scientist who wonders “how mathematics has got so many
uses in the world even though it is man made™ 1s

1. Newman
2, Taylor

3 Einstein
4 Hogben
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Options :
1. % 1
2.% 2
3.¢3
4. % 4
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The statement “the student will be able to predict the shape of
truncated cone” 1s the specification of this objective.

k: Skall
2, Knowledge
% Understanding

4. Application
UTRHE WAMT  JoRTW!,  IZoATIR  DTF B

-
Eﬁadaﬁ@c{ LRHRWYR” Q0W mé{) 5 w%e&% 20T
AeFTEOTONG.
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2. Y8
3. SShTeE
4. STaow
Options :
1. %1
2. % 2
3.% 3
4.9 4
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Which of the following is not the principle of curriculum

construction?

1. Principle of Difficulty

2 Principle of Flexibility

3. Principle of Utilitarian value
4. Principle of Activity

3INIINTY TgD Tod 3 LT

1.
2.
3.
4,

Options :
1.¥1
2.% 2
3. % 3
4. % 4
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If the student leamns the concept ‘Integers’ in the beginning
and agamn after some gap m the class 7. the curriculum
organized in the following method

) Topical Method

2 Concentric Method

3. Logical Method

4. Spiral Method

2.2) VTRHHF “TPFOr0IND’ QoW LPIVIORW), & J¢ ITNSoD
SROOLTIY x:@g ?-;J;“ FoCombodh J03T &:fp 3930 & ﬁeﬁéﬁaﬁ
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2. QB8O evals
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Options :
1. % 1
2.% 2
3.%3
4. 4
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A good mathematics textbook should contain examples that:

I

R

3.
4.

are extremely complex to challenge students
are in accordance with the siuation and with clarity
are only focus on the gifted students

are unrelated to the text to mcrease difficulties.
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)
2

Options :
1.% 1
2.2
3.%3
4. % 4
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A ‘Preface” or ‘foreword’ at the begimning of a textbook
describes the following of the textbook.

Specify the Scope
Specify the advantages

Specify the objectives

g 0wy

. Specifies the values
T, WIF TOORTY eI “2500% LT DYV
evvlor: aﬂ?@ &3 G&;}fﬁc‘j

A RICDHD, S0RSS
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1. A.B.D
2 B.C.D
3. A.B,C
4, ACD
Options :
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4. % 4
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What 1s the role of ‘Mistakes and errors’ 1 Heuristic method
used i Mathematics teaching?

nedd KBregucdy wwmodeeNDEm FodreTTe T SoDNY

Mistakes and errors are not tolerated
Mistakes and errors are seen as failures
Mistakes and errors are valuable learning opportunities

There 1s no room for mistakes and errors.
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‘Education 1s Life” stated by
1. Lord
2 Kil Partrick
3. John Dewey
4. Stevenson
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When usmg problem solving in mathematics. which one 1s the
key factor of success?

1.

2

3.

4.
nee3d3w
203

1.
2,

Options :
1. %1

2.¥2
3. % 3
4. % 4

The speed at which a student solves the problem
The ability to apply leamed concepts to new situations

The number of problems that a student can solve in a
set time

Student’s ability to solve problems without any errors.
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A suitable topic for teaching i project method

L Area of a cucle

2. Pie chart

3 Discount

4. Surface area of a Sphere
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This 1s not included 1n a unit plan.

b Content analysis

2. Teaching strategies

3. Teaching leaming material
4. Evaluation
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“A teaching outline of the important points of a lesson
arranged in the order in which they are to be presented. may
include objectives. poimnts to be made. questions to ask.
references to materials. assessments etc.” This definition for a
lesson plan 1s given by

L, Herbart

2. Good. C.V.
3. Bloom. B.S.
4 Morison
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Which of the following is not related to Herbartian steps?

1. Preparation
2, Presentation
3. Response

4. Application
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“A unit i1s a large block of related subject matter which can be
over viewed by a learner™ stated by

L Herbart
2 Preston
3. Galton

4. Thurston
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The influential experience in ‘Leaming through observation’
category of Edgar Dale cone of experience.

1 Motion pictures

2 Demonstrations

3. Field Trips

4. Exhibits
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According to Edgar Dale’s cone of experience. which of the
following 1s correct?

3 More Passive experience — High retention
2 More active experience — High retention
3. More Visual leaming experience — High retention
4, More auditory leaming experience — High retention
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Which of the following has to be considered while selecting

teaching learning material?

A
B.
£
D.

Price only

Availabilities only
Compatibility Objectives
Popularity
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The aid used for vocabulary. symbols in the lesson. how to
pronounce them or for revision is

L. Peg Board

Bulletin Board

3. Geo Board

4, Black Board
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Which of the following are the enrichment activities for gifted

students?
1. Providing historical developments of various topics
i1. Appreciation the good work done by them.

111, Limiting the divergent thinking perspective.
o3 FINIINTY S YAVl TopIn WTREETTTRN
PXETOED WEPBJWIND IR ?

=

=

WP WRWODNG DETAT zﬁ%ﬁsﬁﬁﬁ@;ﬂ&%
2. AR
i, BTN IRRT IR IORT W
il R, 230330 aﬂﬁﬁmeaam& 20T NRIDITD
1. 1. 11, 111
2. 1. 11
% i1, 111
4. iii, 1
Options :
1. % 1
2.9 2

3.% 3
4, % 4

Question Number : 149 Question Id : 3922668029 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

Identify the correct statements
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Games and laboratory activities are suggested as
supplementary material for slow leamers

Test items from mathematical Olympiads and national
talent tests should be provided as supplementary
material for slow learners.

Both I and II are correct
I 1s correct: IT 1s incorrect
Both I and IT are incorrect

I 1s mncorrect: II 1s comrect
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To teach slow learners, the teacher must possess this trait
1. Efficient

2. Experienced
3 Subject Expert
4. Resourceful. Efficient. Subject Expert
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Which of the following is a strategy to improve accuracy

1. Practicing problems with a time limit

2. Skipping difficult problems and returning to them later
2 Encouraging verification of results.

4, Focusing on speed rather than method
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Oral work is considered as important in teaching mathematics.
Why?

1.

-

-

3.
4.

Useful in memorizing Principles

Encourages active Participation of students and
immediate feed back

An easy method for teachers to use.

Useful for improving hand writing skills
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Main aim of using ‘Drill work’ 1n teaching mathematics

I:

4,

Develops creativity

Useful for students to work together in implementation
of Complex projects.

Replacing the need for conceptual understanding

To strengthen the understanding and skill of the
students on fundamental mathematical skills.
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A book having ‘Kantikaabharanam®™ Problems which were

examples of mathematics order

1: Leelavathi Ganitam
2. Aryabhatteeyam
4 Ganita Saara Sangraham

4 Pancha — Siddantika
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The arrangement of triangular numbers belongs to this form of
mathematics aesthetic structure

1. Pattern
2. Symmetry
3 Sequence
4. Order
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Who states the need to Start a Mathematics club in the School

i
2.
5
4.

NPE - 1986
PoA - 1992
Kothari Commission

Mudaliar Commission
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Match the following

A, Validity L.

B Reliability 11.

3 Objectivity 1.

D. Practicality 1v.
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Easy to administer
Measures what it 1s
intended measure
Consistency of results
Free from bias and
Provide impartial results

OLTIN AWF LRI TN
$3T[IVTED
ﬂ‘ocuﬁ;émﬁ@.ﬁ@m&i
'E:?@Dd}:-iiﬂ

HOSNS %ﬁa:
mﬁamﬁﬁgdoé NESODTE
ﬁ@@oa‘rﬁ%’ls‘b& N3

GET IT ON
Google Play

Question Number : 158 Question Id : 3922668038 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

A teacher 1s mterested i assessing both the factual knowledge
and critical thinking skills of his student. Which of the
following would best serve this purpose?

1.

~

-

3.
4.

Fill in the blank Questions
Essay Questions
True / False Questions

Short answer Questions
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Which 1s the best use of diagnostic evaluation?

1.

-

3.
4.

Before going to teach a new lesson

When defects are identified durmg teachmg leaming
process

After completion of the teaching

Teaching is going on
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In the process of preparing an evaluation tool. which is the

first step

1. Predetermune the Scoring Procedure

2. Identify the objectives of the evaluation
3 Selecting different forms of questions

4 Standardization of the tool with experts
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